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For questions 1 -10, write the quadratic equation in standard form.  For questions 11-20, solve the
quadratic equation.

1)  x2 = 5x 2)  x2 - 2x = 0

3)  x2 = -10x - 16 4)  a2 = 2 - a

5)  x2 - 4 = 3x 6)  k2 - 7k = 8

7)  b2 + 5b + 9 = 3 8)  b2 + 11b + 24 = -4

9)  n2 - 8n + 10 = 3 10)  x2 - 15x + 64 = 8



©^ w2t0i2g5i DKkuBtnah JSmotfct\wZaKrge^ WLCLHCa.e P DAIlNlo GryiOg\hWtPs[ nrrersHeYrlvne\dh.m _ OMnazdHeH OwKiItUhc UIQnsf\iwnQiRtQee tAClogUe[bmrNaM c1S.

Worksheet by Kuta Software LLC

-2-

11)  r2 - 8r + 12 = 0 12)  n2 - 9n + 14 = 0

13)  x2 - 14x + 48 = 0 14)  a2 - 10a + 21 = 0

15)  p2 + 4p + 4 = 0 16)  k2 - 7k + 12 = 0

17)  k2 + 5k = 0 18)  k2 - 3k - 40 = 0

19)  k2 - 13k + 42 = 0 20)  a2 + 5a - 6 = 0

21)  b2 - b - 30 = 0 22)  a2 - 5a - 24 = 0
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For questions 1 -10, write the quadratic equation in standard form.  For questions 11-20, solve the
quadratic equation.

1)  x2 = 5x

{5, 0}

2)  x2 - 2x = 0

{2, 0}

3)  x2 = -10x - 16

{-2, -8}

4)  a2 = 2 - a

{-2, 1}

5)  x2 - 4 = 3x

{4, -1}

6)  k2 - 7k = 8

{-1, 8}

7)  b2 + 5b + 9 = 3

{-2, -3}

8)  b2 + 11b + 24 = -4

{-4, -7}

9)  n2 - 8n + 10 = 3

{7, 1}

10)  x2 - 15x + 64 = 8

{7, 8}
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11)  r2 - 8r + 12 = 0

{6, 2}

12)  n2 - 9n + 14 = 0

{7, 2}

13)  x2 - 14x + 48 = 0

{6, 8}

14)  a2 - 10a + 21 = 0

{7, 3}

15)  p2 + 4p + 4 = 0

{-2}

16)  k2 - 7k + 12 = 0

{3, 4}

17)  k2 + 5k = 0

{-5, 0}

18)  k2 - 3k - 40 = 0

{8, -5}

19)  k2 - 13k + 42 = 0

{6, 7}

20)  a2 + 5a - 6 = 0

{1, -6}

21)  b2 - b - 30 = 0

{-5, 6}

22)  a2 - 5a - 24 = 0

{-3, 8}


